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1.1f15:66::185: ?, then the value of ? is

15:66::185:?, 8?0, &N
(Punjab and Sind Bank PO 2010)

(a) 824

(b) 644

(c) 604

(d) 814

(e) None of these

2.1fA:B=2:3andB:C=4:5,thenC:A
is equal to

A:B=2:323)B:C=4:58N3F,C: A
i IDo3TNHIBT
[Airforce Group Y 2018]

(a)15:8
(b)12:1
(c) 8:5
(d) 8:15

3. IfW1:Wz=2:3andW1:W3=1:2,then
WlegiS
W1:W2=2:3d)3)_°W1:W3=1:235ﬁC§6

W3: W; AT
[SSC CGL 2010]
(a)3:4
(b)4:3
(c)2:3
(d)4:5

. . 9 11 %as
4 Fmdthevalueof?m—ﬁ: — ::7:?

9
9 11 13

- 22 BPOBY

11 9 ° 2
F50R)HBANO [RRB ALP 2018]

115
(@) -9

115
(b)-9

115
()9,

(d)8

5.IfA:B=3:4andB:C=8:9,thenA:B
:Cis
A:B=3:423)B:C=8:98NJT,A:B:
Cai)’aozsdidg( BoR&AAO [SSC CPO 2010]
(a)8:6:9

(b)9:8:6

(c)6:8:9

(d)3:32:9

6.fA:B=7:8andB:C=7:9,thenA:B
: Cis equal to
A:B=7:8a8)B:C=7:9sNZT,A:B:

C SSERVRTpleitiag
[SSC Constable 2018]
(a)56:49:72
(b)49:56:72
(c)56:72:49
(d)72:56:49
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7.1f3x=5y=4z,thenx :y:zis equal to
If 3x = 5y = 4z, J030 x : vy : z

i IeITeNHIT
[SSC SAS 2010]

(a)9:12:16
(b)20:12:15
(c)15:10:9
(d)8:5:3

8.fA:B=2:3,B:C=4:5andC:D=5:
9,then A: D is equal to
A:B=2:3,B:C=4:5038C:D=5:9

sNgT, A: D 1 I
[SSC CGL 2010]
(a)11:17
(b) 8 : 27
(c)5:9
(d)2:9

9.1fx:y=6:5andz:y=9:25,thenx:z
is equal to
X:y=6:5R2:y=9:25681x:z2

IR TNDH 3BT
[SSC Constable 2019]
(a) 50:33
(b) 54 : 125
(c)10:3
(d) 48 : 25

10.Ifa=(5/4)b and b = (2/10)c, then what
is

a:b:c?

a = (5/4)b D2 b = (2/10)c NZT, esi

a: b: ¢ 30RO
[Delhi Police Constable 2017]

(a)15:12:20
(b)1:1:2
(c)5:2:10
(d)5:4:20
a 2 b- 4 a+b ;
11. If = and " Y then Do 1S equal to
E € - HY Y F ) ok
b 3 - Wc 5 b+c
JDTNDHIT
[RRB TC/CC 2009]
(a) =
e
(b)62—0
(c) 5
8
(d) 2

12. Ifa:b:c=(y-2):(z—=x) : (x-y), then
the value of ax + by + cz is
a:b:c=(y-2):(z=x):(x-y), 31 ax + by

+ cz 3 o) 30RO

[SSC CGL 2010]
(a)1
(b) 3
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(c)O0
(d)-1

13.If x:y=4:5, then (3x +y) : (5x + 3y) is
equal to
x:y=4:5e0g3 (3x +y): (5x + 3y)

SRR TND I

(a)3:5
(b)5:3
(c)17:35
(d)35:17

14. If x : y = 3 : 4, then (4x + 5y) : (5x-2y) is
equal to
200 Je x :y = 3 : 4, &3} (4x + 5y) : (5x-

2y)
ISR TNH BT

(a)7:32
(b)32:7
(c)4:3
(d)5:2

[SSC CPO 2011]

15. If x : y = 5: 6, then (3x2-2y?): (y? - x?) is
x:y=5:6 N33, 03T (3x>-2y?): (y* - X?)

NAPIAplgleilziag
[SSC CGL 2011]
(a)7:6
(b)11:3
(c)3:11

(d)6:7

16. If x : y = 1 : 3, then what will be the
value of

(3y? + 3x?) : (2y? - 8x?)?

x:y=1:3sA33, (3y* +3x%) : (2y* - 8x?)?

¥3T B0ty HJNDLIBT

[SSC (10+2) 2018]
(a)a:1
(b)2:1
(e)3 21
(d)5:1

17. If a and b are rational numbers and a
+b V3= ﬁ then a: b is equal to

add@ b mﬁvag aSoai’erivaﬁdod DD a+b
1

V3 = 273 ot cal  1nbl e

ﬁ&mﬁd@m’ [SSC CGL 2010]

(a)-2:1

(b)2:1

(V3:1

(d)-v3:1

18. If 10% of x is equal to 20% of y, then x
:yis equal to
10% x 20% y r1 JIDJNGT, x : y

SAPIVAplgleit:iag
(MP Patwari 2017)
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(a)1:2
(b)2:1
(c)1:5
(d)3:1

19. If 60% of A= z of B, then A : B is

60% A=3/4B oimﬁcgd, A:B___ eAd
[SSC CGL 2010]

(a)9:20

(b)20:9

(c)a:5

(d)5:4

20. Which number should be added in
each 7, 17, 22 and 47 so that, these
numbers become proportional?

Wrea Boal,ab) FedIwor B3 7, 17, 22

DF) 47 FodN ORDBISTODIT?
[SSC (10+2)2018]

(a) 1 (b) 3

(c) 2 (d) 4

21. The respective ratio between 52% of x
and 30% of y is 12 : 5. If x is 50 more than
y, what is the value of '2x+y'?

52% x DR 30% y SRS T3 12 :
5. x y No@ 50 B 3T, "2x+y' &0 oa)?

[IDBI Executive 2018]
(a) 390

(b) 260
(c) 230
(d) 330
(e) 490

22. If 35% of A's income is equal to 25% of
B's income, then the ratio of A's income to
B's income is

A S 35003 35% B ad e3madT 25% 11

JIDJNGS, A ab @smead D& B abd

30003 DT3B FoR&HEAO
[SSC CGL 2016]
(a)7:5
(b)5:7
(c)a:7
(d)a:3

23. A:B=5:8andB:C=11:13.IfA=
110, then what is the value of C?

A:B=5:83B:C=11:13.A=110
esﬁdod,CQi)d)’aoé oR),?

[SSC Constable 2018]
(a) 176

(b) 104

(c) 208

(d) 88
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24. Two numbers are in the ratio of 9 : 3.
If their sum is 240, then the difference is

QTR ﬁoaa”émb 9 : 3 3 TSBODS.
YNy D2 240 &NZT, en déméﬁ

AT
[SSC CGL 2010]
(a) 120 (b) 108
(c) 100 (d) 96

25. Two natural numbers are in the ratio
of 3 : 5 and their product is 2160. The
smaller number is

o0m  F,[AFS RodAw 3 ¢ 5 O
ODTIBBODIS DI VY VS

2160 NG, 38, Foss, AT
[SSC CGL 2010]

(a) 36 (b) 24

(c) 18 (d) 12

26. There are three numbers A, Band C
such that twice of A is equal to thrice of
Band four times Bis equal to five times C.
Then, the ratioof Ato Cis

R ﬁoa%ri% A, m?socs‘ C @3 03T A
add TR 2390 méoa% R 2390
JRToNDHBT Teew, WD Bis 2w 2300

C i IPJDNDHBT. Jo83, A to C

IS FoRHRAO

[SSC CPO 2009]
(a)3:4
(b) 8 :15
(c)15:8
(d)4a:3

27. The ratio of two numbers is 2 : 3. If
each number is increased by 4, then the
ratio becomes 5 : 7. The difference
between the numbers is

o0 RBoFRY e3P 2 : 3. B3
BoB,ob, 4 BoBd YAV, <o3T
ORI 5 : 7 SHTT. BoaknY SBAS
339,38 BoDHAMD

(a) 8
(b) 6
(c) 4
(d) 2

28. Two numbers are in the ratio of 7 : 11.
If 7 is added to each of the numbers, the
ratio becomes 2 : 3. The smaller number is

QT JosiNw0 7 : 11 B DT3B DS3.
S3adeodd Jodnert 7 o JedITT,
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ODTI3R) 2
0D HBAO

(a) 39
(b) 49
(c) 66
(d) 77

3 erb3d. 38, <o,
[SSC CGL 2010]

29. The ratio of two numbers is 3: 5. If both
numbers are increased by 8, the ratio
becomes 13: 19. What is the sum of the
two numbers?

QTR ﬁoa)"éﬁ'é DT3P 3: 5 &sAT.
QTR ﬁoa{sﬁ?a{& 8 0od ®2TT,
TP 13: 19 83T, ATD r-\Soai?Srw

3e8 of [SSC CPO 2017]

(a) 32
(b) 48
(c) 40
(d) 72

30. Ratio of two numbers is 4 : 9, if both
the numbers are increased by 12, then
their ratio becomes 11 : 21, then sum of
original numbers are

QTR ﬁoai‘érivé ONT3Y 4: 9 &AT,
VAR ﬁoaizsrivédg( 12 8083 23T,
S0383 ePYNY vDTSFY) 11: 21 BNHIT,

<033 Bwew JogNY SRB o=, ?

[SSC CPO 2019]
(a) 52
(b) 64
(c) 128
(d) 104

31. Two numbers are in the ratio of 5: 7.
On diminishing each of them by 40, the
ratio becomes 17:27. The difference of the
numbers is

QT Jod N 5: 7 T oDTSIOS.

IYNYO 3030033 40 o),
3D dTN, TR 17:27
S8H3E. JodNY FzaR BoDHBAND
[RRB TC/CC 2009]
(a) 18
(b) 52
(c) 137
(d) 50

32. Two numbers are such that the ratio
between them is 5 : 8. If 4 is subtracted
from each of them, the ratio between
them becomes 7 12. The original
numbers are

QT JoddNwd YNY FBAIS ODTSY
5: 8 8NT. YNV & 30303003 4 O
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3Y 0BT, PHNY SBDIS 9DT3Y) 7 : 12

833, Swwe Josdnw R)F)?

[RRB Group D 2018]
(a) 20, 32
(b) 15, 24
(c) 25, 40
(d) 30, 48

33. What must be added to each term of
the ratio 7: 11, so as to make it equal to 3:
4?

7: 11 DT3B @13 3:35& O TedJeIeD),

20003 D 3: 4 8, IRIITNDBT?

[SSC CGL 2010]
(a) 8
(b) 7.5
(c) 6.5
(d)5

34. What number should be added to or
subtracted from each term of the ratio 17:
24, so that it becomes equal to 1: 2?

17: 24 T3SV T8 JITD0W eI
Sos,abD TedTeSed vrme svabeled,
23008 & 1 : 2 1 IITNDIT?

[SSC CGL 2011]
(a) 5 is subtracted (b) 10 is added
(c) 7 is added
(d) 10 is subtracted

35. If X 1000 is divided between A and B
in the ratio of 3 : 2, then A will receive

R 1000 3 A DD B IBDI 3 : 2
ODTSTO PNATT, A X
2,e80=33

[SSC CGL 2010]
(a) X400
(b) X 500
(c)X 600
(d) X 800

36. If 182 is divided in the ratioof3:5:4
: 1, then the lowest partiis

182 &= 3: 5: 4: 1 ODBITY wINIT,
3030 88 gert

[SSC Constable 2012]
(a) 28

(b) 15

(c) 14

(d)7

37.X 7740 is to be distributed among A, B
and Cin the ratioof 7: 5 : 8. The difference
between shares of B and C is

7740 0, D DD I IRDI 7:5:83
oDTSFY) JIBOIFeD. WV DD D

Qe SRII dzsa?zsﬁ B0 &BALO
(a) X387
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(b) X 774
(c) X 1021
(d) 591
(e) X 1161

38. Sum of three numbers is 777, if ratio of
first to second is 7 : 9 and second to third
is 3 : 7, then second number is

SR BoddnY SR3BF) 777 8NFT, ST
D) 28BI D TSP 7: 9 BNFT D)
OTBIAoT SwedIobd 3: 7 &NZT,

QTBIadD c—-\Soast B0 &AL
[SSC CPO 2019]
(a) 252
(b) 147
(c) 63
(d) 189

39. X 780516 is divided among A, B, C and
Dintheratioof2:3:4: 3, then find the
share of C.

X780516 esaig( A, B, C &) D ¥ IR 2:
3:4:3 D@33 JonBIJweNT, So33

C 0d BOR, BoW&BAO.

[SSC CPO 2019]
(a) 130086
(b) 260172
(c) 224562
(d) 195129

40. If 78 is divided into three parts which

arein the ratioof 1: ; : %, the middle part

is

Bod 1:;:,, O oDmsEd dwd

Qon&ATT, d)t;izs
[SSC CGL 2011]

NN N

B0 &BADO.

(a) 93
(b) 13
(c) 17 %

(d) 18 %

41. If 3A = 5B, then what is the value of
(A+B) / B?
3A = 5B #NQT, (A+B) / B 26T ab’aozs AT

(SSC CPO 2017)
(a) 8/3
(b) 8/5
(c)5/8
(d)5/3

42. If 1.5a = 0.04b, then is equal to il
b+a

1.52 = 0.04b 8AGS, e i
ﬁd)mﬁd)éa’ [SSC CGL 2010]
(a) =

(b)

CF
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75
(d)

43. If 30% of (B — A) = 18% of (A + B) then
A:Bis
30% (B — A) = 18% (A + B) esﬁcgdA:B

halad [UPTET 2018]

(a)5:3
(b)1:4
(c)a:1
(d)5:2

44. The cost of 36 pens is X 540. How many
pens can be purchased in X405?

36 ﬁaig(ri%” JeJ X 540. X 405 deg ‘Da&
ﬁc‘d&ﬁ%’é& 00eDTwDTD?
[Allahabad Bank Clerk 2010]
(a) 24
(b) 29
(c) 26
(d) 27
(e) None of these

45. A laborer earns X 440 for 10 days
work. In order to earn X 308, the number
of days he will have to work, is

w2) 3P0 10 OJINY JoTs, X 440
NeDBS. X 308 NETw, OID B
RBIeFE DIND aa‘% ?

(a)7
(b) 8
(c)9
(d) 10

46. A reporter writes 23 articles in a
month. How many articles will he have
written in 1.5 yr?

Wy  JIoOMS  wond  3doniwd 23
JeINYRY wIWwZS. 1.5 IRENYS

OID aa&;d dea)ﬁﬁ'éag( aoo"&mod?

[UCO Bank Clerk 2011]
(a) 414
(b) 424
(c) 418
(d) 404
(e) 423

47. A earns X 40 per hour and works for 12
h. Bearns X 60 per hour and works for 10
h. Find the ratio of their per day wage

A Roedrt X 40 YB3V DA 12 Roedny
Bo0 BOR BT, Noedrt X 60 DI 10
notdn¥ Soo Fod DR3T. 3T BIT

3333 eﬂﬁamééﬁg F0RHBADO.
[SSC CPO 2019]

(a)15:4

(b)6:5

(c)5:6
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(d)5:4

48. The cost of 9 kg of apples is X 360.
What is the cost of 13 kg of apples at the
same rate per kg?

9 32 TedS JJ X 360. B3 3BT e

BB 13 8L JedI B3 o=D)?

[Allahabad Bank Clerk 2010]
(a) X 500
(b) X 515
(c)X 530
(d)X 520
(e) None of these

49. Three cars travelled distances in the
ratio of 1 : 2: 3. If the ratio of the time
taken by themis 3 : 2: 1, then the ratio of
their speeds is

S FoHNRW 1: 2: 3 T DTST BT
ZATY. 3D ISricddeod JDohd
TSP 3 : 2 : 1 8NFT, Jhid Jena
ODTBFY) o) ?

[SSC CPO 2009]
(a)3:9:1
(b)1:3:9
(c)1:2:4
(d)4:3:2

50. The sides of a triangle are in the ratio
of 3:2:4 and the perimeter is 72 cm. The
sides are

3BeeId wBAN 3 2 4 OJ
oDTBFODHBS DB OHaw 72
J0.cbe. 21 QS

[SSC CPO 2018]

(a) 24, 16, 32
(b) 48, 24, 12
(c) 36, 24, 12
(d) 36, 18,9

51. Three numbers are in the ratioof 5: 6
: 7. If the product of the numbers is 5670,
then the greatest number is

D Jodriwd 5 : 6 7 O
D TBTIDIS. aSoai‘éri'é rbsaozga‘»

5670 esﬁcgd, esny cizac}a 7\5035‘zs

[SSC CPO 2009]
(a) 15
(b) 18
(c) 21
(d) 28

52. The incomes of A and Bare in the ratio
2: 3 and their expenditures are in the ratio
1 : 2. If each saves X 24000, then A's
income is
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2:3 03B A D) Bare S S8T0LNRW
B) TT FY N 1: 2 9DTBTODS.
J30de)de X 24000 LYW, A ab
80l OF)?

[SSC CPO 2011]
(a) X 24000
(b) X 72000
(c) X 19200
(d) X 48000

53. The ratio of the income to the
expenditure of a family is 10: 7. If the
family's expenses are X 10500, then
savings of the familyis

BDDOWT BWeoh DD JIBT TSI
10: 7 AT, Bevowd JYnw X 10500

AT, BED0NT LLEBTD OR)?

[SSC CGL 2011]
(a) X 4500
(b) X 10000
() X 4000
(d) X 5000

54. The ratio of weekly incomes of A and
Bis 9:7 and the ratio of their expenditures
is 4: 3. If each saves X 200 per week, then
the sum of their weekly incomes is

A D) Bis 9 : 7 T Towod3 eswoobried
DTS DR) IV FYNY D TSY) 4: 3
A3, &303er) Te T983, X 200 EVLITT,

©TT T0T BThT S o) ?
(SSC CGL 2011)
(a) X 3600
(b) X 3200
(c) 4800
(d) X 5600

55. The salaries of Charan and'Rajat are in
the ratio of 5 : 4. If the salary of each
increases by X 3000, then the new ratio
becomes 6 : 5. What is Charan's salary?

305" D) SR IV Jow¥Py 5 : 4 O
DBBTOT. T30de) T FeSIF) X 3000
BYTT, BRI DTS 6 : 5 BMHST.

U305 T3 Jowy oR),?

2018)

(a) X 15000
(b) X 18000
(c) X 20000
(d)X 12000

(RRB Group D
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Mathematics

56. The incomes of Neha and Hitesh are in
the ratio of 4: 5 and their expenditures are
in the ratio of 2 : 3. If each of them saves X
2000, then find their income respectively.

Jedo DA &bIeTF ©I0 8w 4:5T
DTBTOT D) ©TT SPYNRWw 2:3 T
DTBTODBS. Jyddede X 2000
EITY, To3BT ©TT  BEIDSI

3TN 30 HBALD.

(a) X 4000, X 6000
(b) X 4000, X 5000
(c) X 5000, X 4000
(d) X5000, X 6000

57. The incomes of Vinay and Prakash are
in the ratio of 4 : 5 and their expenditures
are in the ratio of 2 : 3. If each of them
saves X 5000, then what will be the
difference between their incomes?

A0 D) 5 ©IT sweahY 4:53
DTBBIT D) 3T FPniwd 2 : 3 T
oDTBBODSA. B3akexyde X 5000
VOABTT, ©I0 BSHBd  SRII
B TSe?

(a) X 2500

(b) X500
(c) X 1500

(d) X 2000

58. A bag has X 840 in the denomination of
X1,¥2andX5coins.X1,X2and X5 coins
are in the ratio of 8: 1: 5. How many coins
of are in the bag?

203 zSeode?, 1,323 X5 waddod
?840@6.?1,?26)@?5mm6ﬁ%08:1:
5 O odx30d08. wBewdd oR
oEMPS?

[SSC CPO 2018]
(a) 60
(b) 24
(c) 600
(d) 120

59. A bag contains 25 paise, 50 paise and X
1 coin in the ratio of 2 : 4 : 5 respectively.
If the total money in the bag is X 75, find
the number of 50 paise coins in the bag.

0o e DN 2:4:5T eaabmédom
25 BT, 50 B& DR X 1 msaéda{&
BRODDBT. 23eLBOTHT e, B X 75
Claiate mzsn‘ﬁegd)as 50 ﬁéﬁ msaérw

033,00, BOTBBD.
(a) 45 (b) 50
(c)25 (d) 40
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60. A bag contains 10 paise, 25 paise and
50 paise coins in the ratio of 5:2:1
respectively. If the total money in the bag
is X 120. Find the difference between the
number of 50 paise and 10 paise coins.

20 e BDoN 5:2:1 @mmawq 10
@y, 25 By DR 50 BB ToNPY
BRODDIBT. WM'RIIDS we), Tea X 120
s8NZ3. 50 ;S D) 10 BT JoENY
SRR SBYIT, 30 HIAO.

(a) 320
(b) 360
(c) 280
(d) 300

61. When 40% of a number is added to
another number, the second number
increases to its 20%. What is the ratio
between the first and second number?

200 Joadod 40% & DB Josk
Jeddoon, a8BESe aSoaS‘?Scm) 30 20% 11
BWYN3T. SpTL D) QTBI D aSoaS?SQb

SRS 9D T3 OR?

(a) 2:1
(b) 1:2
(c) 2:3
(d) 3:4

62. The sum of three numbers is 980. If the
ratio of first and second numberis 3: 4 and
that of second and third is 3: 7. Find the
difference between first and last number.

Rweth oY BeBH) 980. FRTO )
STERd Boak,ad D@ 3: 4 BNGY
DD 20BID DD FeSSAD 3: 7
sNgS. ST DI Zead Fos,d

SDAR BRI, BoRBBDND.

(a) 380
(b) 360
(c) 340
(d) 400

63. The sum of the squares between three
numbers is 5000. The ratio of first and
second number is 3: 4 and that of second
and third number is 4: 5. Find the
difference between first and the third
number.

D Jod ¥ JSRAII Sneny Sy
5000. SPTL DA ATBEID Josdod
DTS 3: 4 DA OTBIE DA IveTIe
Sogdad DHBF) 4: 5. SeTL DR
Sede Jododh IDIT ST9IBY,
B30 &oBALO.

(a) 20

Spardhaguru India Private Limited

e

‘\9_,

Ve d
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(b) 30
(c) 40
(d) 50

64. There are two numbers. When 25% of
the first number is added to the second
number, the resultant number becomes
1.5 times the first number. What is the
ratio of 1st number to the 2nd number?

S8 B, RO, BeBL Foss,ad 25% =y
o0 Kok FedITOR, FOB0BT
RBoas,00 SeTo Bosk,ad 1.5 Bew, SrHTT.
1 Se Doz, DI 2 Fe VoY VDB
o?

(a) 3:5
(b) 5:4
(c) 4:5
(d) 2:3

65. In a school, the number of boys and
girlsis in the ratio of 4 : 7. If the number of
boys is increased by 25% and the number
of girls is increased by 15%. What will be
the new ratio of number of boys to that of
girls?

20T mdai)eg, RDBDAD DB BDBDNADT

Rosk, 4 : 7 O ODBIBIOY. BTG
Bosfabsy 25% Od) FBITT

DAL Josfob 15% B JTNS.
DRDNT JFogd, DA TWRDNDT TR
DB OR),?

(a) 100: 131

(b) 100: 151

(c) 100: 161
(d) 100: 181

66. An employer reduces the number of
his employees in the ratio of 7 : 4 and
increases their wages in the ratio of 3 : 5.
State whether the expenditure of total
wages increases or decreases and in what
ratio?

VTR NS 33 euidR ey
Sosfob, 7 4 T oDTITY
3B DTN D) 3 : 5 T DHSTO
033 FeSITJ), B DTS, W), FeSIT

33 I B rH3dTode lamp)
3@Dadrerb 3 ode DD oo
@ﬁamédéﬂ?

(a) increases 20 : 21
(b) decreases 21 : 20
(c) increases 21: 22
(d) decreases 22 : 21
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67. The total number of students in a (c)2:3
school is 560. If the ratio between the boys (d)a:3
and girls is 9 : 5, then find the difference

between the number of boys and girls of

the school.

200 ZoJabd e, T BEMY Foad, 560.
RAND DD DBDADT IDII
DT3P 9 : 5 8NGT, Totah BB
DD @BDNADT  Jodad SRS
BBITD, 30 HIAO.

(a) 280
(b) 160
(c) 180
(d) 120

68. The total number of students in a
college is 2000. If the total number of boys
is 400 more than that of girls, then find the
ratio between the total number of boys
and girls in the college.

S0JedTY e, o BNy Joad, 2000.
BT 2,63, Foad,0dw BDNabONoS 400
B30, FSed30 ey, DRAD D)
- esglon]e SRS ODTIBTY,

B0 &BAO.

(a)5:3
(b)3:2
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